
Name: LösungsschlüsselBestimmung der Spinner-Wahrscheinlichkeit

Mathe www.CommonCoreSheets.de
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Antworten

1. 1 & 4

2. D

3. D

4. A

5. B

6. 1 & 3

7. 4

8. C

9. 3

10. C

11. C & D

12. 2

Löse jede Aufgabe.

1) Which two numbers is
the spinner equally likely
to land on?

1
14

3

4

1
4 2

2

2) Which letter is the
spinner least likely to
land on?

C
B

CCA
A

A
D

C B D
A

B

3) Which letter is the
spinner least likely to
land on?

C
BDB

C
A

A C C
B

4) Which letter is the
spinner least likely to
land on?

C
C

BB
D

C
A

B
C B

D
D

5) Which letter is the
spinner least likely to
land on?

D
CAD

C
A

C B A
C

6) Which two numbers is
the spinner equally likely
to land on?

4
21

4

4 2
3

7) Which number is the
spinner most likely to
land on?

4
433

4
3

2 4 1
1

8) Which letter is the
spinner most likely to
land on?

C
DDC

B
C

A A A
C

9) Which number is the
spinner most likely to
land on?

3
43

2

2
3 1

3

10) Which letter is the
spinner least likely to
land on?

A
BCA

D
D

A D A
B

11) Which two letters is the
spinner equally likely to
land on?

B
AC

B

D A
B

12) Which number is the
spinner least likely to
land on?

4
411

3
3
4

2 2 1
3
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